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ffRoRf(f(x)+f(x)=—x,VxeR
Find:
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Proposed by Daniel Sitaru — Romania

Solution 1 by Samed Ahmedov-Azerbaijan
FF@) +f@ =—x,  f(F(F)) + F(F®) = —F )
FFF@)) +f(F@) +f@ =0,  f(f(f))-x=0
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Solution 2 by Adrian Popa-Romania
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Solution 3 by Ankush Kumar Parcha-India

Wehave, fR-> R, (foeflx+ f(x) =x,Vx ER
x-f(x)

= (fofeflx+(foflx=—f(x) :> (f fePHN)=x (1)
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Solution 4 by Ravi Prakash-New Delhi-India
FU@)+f=-x (1)
= F(F(F@)) + F(F@0) = —f0) = £ (F(F@)) + F(F0) + f2) = 0
= f(F(F@))-x=0 [using (1= £ (f(F(0)) = x
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